
Math 80
Test Chapters 1 and 2

Name__________

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question.

Add or subtract. Simplify the answer.

1) 14
5
 -  6

25

A) 64
125

B) 64
5

C) 8
25

D) 64
25

1)

Find the product.

2) (-3)(4)(-3)(-4)

A) 144 B) -6 C) 36 D) -144

2)

Evaluate x2, -x2, and (-x)2 for:

3) x=8

A) x2 = 64; -x2 = 64; (-x)2 = -64 B) x2 = 64; -x2 = -64; (-x)2 = 64

3)

Evaluate

4) -883.08  ÷ 0

A) -883.08 B) -  1
883.08

C) undefined D) 0

4)
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Evaluate the expression for the given value of the variable or variables.

5) 4(x + 6) + 23; x = -15

A) 13 B) -13 C) 119 D) -73

5)

Solve the equation.

6) 4r + 4 = 20

A) r = 4 B) r = 16 C) r = 1 D) r = 12

6)

7) 6x + 6(3x - 6) = -4 - 8x

A) x = - 5
4

B) x = - 5
2

C) x = 1 D) x = - 1

7)

8) 2x
5
 = x

3
 + 3

A) x = 45 B) x = -90 C) x = 90 D) x = -45

8)
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9) r
3
 + 6

3
 =  r

6
 + 8

6

A) r = -12 B) r = -4 C) r = 3 D) r = 4

9)

Solve the proportion for the variable by cross-multiplying.

10) x
30
 =  9

10

A) x = 27 B) x = 36 C) x = 3 D) x = 100
3

10)

Write a proportion that can be used to solve the problem. Then solve the equation to obtain the answer.

11) It takes Mary Alice 18 minutes to type and spell check 14 pages of a manuscript. Find how long it
takes her to type and spell check 105 pages. Round to the nearest whole number.

A) 1890 minutes B) 135 minutes C) 18 minutes D) 82 minutes

11)

Solve the inequality and graph the solution on a number line.

12) -3x ≥ 27

A) x ≤ 9

-10-9 -8 -7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7 8 9 10-10-9 -8 -7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7 8 9 10

B) x ≥ 9

-10-9 -8 -7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7 8 9 10-10-9 -8 -7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7 8 9 10

C) x ≤ -9

-10-9 -8 -7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7 8 9 10-10-9 -8 -7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7 8 9 10

D) x ≥ -9

-10-9 -8 -7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7 8 9 10-10-9 -8 -7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7 8 9 10

12)
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Solve for the indicated variable.

13) A = 1
2
bh,  for b

A) b =  h
2A

B) b =  A
2h

C) b = 2A
h

D) b = Ah
2

13)

Evaluate the expression for the given value of the variable or variables.

14) -3x2 - 5x - 1; x = -4

A) 27 B) -69 C) 67 D) -29

14)

Simplify.

15) -9y + 2 - 5 + 6 + y - 3

A) -8y B) -10y C) -10y + 1 D) -8y - 1

15)
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SHORT ANSWER.  Write the word or phrase that best completes each statement or answers the question.

16) Solve the inequality and graph the solution on a number line.

8x + 5 ≤ 7x + 15

16)

Simplify.

17) -6(8r + 8) + 7(3r + 4) 17)

Evaluate the expression for the given value of the variable or variables.

18) 5(x + y)2 - 4(x + y) - 9; x = -4, y = 3 18)

Solve the equation.

19) 3(y - 2)
5

 = 1 - 3y 19)

Use the order of operations to simplify the expression.

20) 8(-7) - (2)43

10 -  121 + 5
20)
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Answer Key
Testname: MATH 80 TEST 1 (CHAPTERS 1 AND 2)

1) D
2) D
3) B
4) C
5) B
6) A
7) C
8) A
9) B
10) A
11) B
12) C
13) C
14) D
15) A
16)
17) -27r - 20
18) 0

19) y = 11
18

20) - 46
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